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(1) 61+63+59-+62+64+58+60+67;
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(1) 2000—297—703;

(2) 6374— (374+287);

(3) 7281 —999;

(4) 2351—375+75.
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a—b—c=a—(b+c),
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JER = 2000 — (297 + 703) = 2000 — 1000 = 1000.
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A, B

a X b=5bXa.

(2) P H A S AFOHR, R ICATH D BAHTE, BIRLLE
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(a X b) Xec=aX b Xo).

(3) TRk BCA. B BWF S — DB, /T LB A%
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(1) 125X 563 (2) 75X 32;

(3) 72X 14X125; (4) 25X 36X09.
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125 X 56= 125 X (7 X 8) = (125 X 8) X 7
— 1000 X 7 = 7000.
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75 X 32= (3 X 25) X (4 X 8) = (3 X 8) X (25 X 4)
= 24 X 100 = 2400.
(31125 1y 8 HFEH 1000, BARA AL A Ty 8, (H 72 7]
PAAT g A 8 <9, R B T RAAS B DT fa] i 50k
72 X 14 X 125= (8 X 9) X 14 X 125 = (8 X 125) X 14 X 9 .
= 1000 X 126 = 126000.
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X9, iZ AR T
25 X 36 X 9= 25 X (4 X 9) X 9= (25 X 4) X 9 X 9
= 100 X 81 = 8100.
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(1) 87X.64+36X87;
(2) 123X 37+42X123+123X21;
(3) 5600+ 30X 80;
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87 X 64 + 36 X 87= 87 X (64 + 36)
= 87 X 100 = 8700.
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123 X 37 + 42 X 123 + 123 X 21
=123 X (37 + 42 + 21)
= 123 X 100 = 12300.
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